10.

11.

12.

13.

Za vezbu

/ dx .
) V=32 +2r+1
V3

Resenje: %2 arcsin 351 + ¢.

/ dx .
") Va2 =122+ 3

Resenje: %ln‘x— % + \/m‘ +e.

/ dx .
. V1—1z— 322
ReSenje: ?arcsin% +c.
/ dx )
) V222 =3+ 1
Regenje: gln‘x—%—i—,/xz—%w—k%’—i—c.
3
de;
Va2 +2r+2
Resenje: \/x2+2x+2+21n|x+1+\/x2+2x+2|+c.
3r—2
A
V5 +4dx — a2

Resenje: 4arcsin 232 — 3v5 + 4z — 22 + c.

/ dr
14z’
Resenje: 2v/z —2In|1 4+ /x| +c.

Resenje:2v a3 — 2Vt + 2\6/37—1:—1— Vb — 3V + 2z —3Yr+6yYx—6In(Yr+1) +c

/ dzx )
(2 +1)* — 2z + 1
Resenje: 322 +1+3¢2x+1+3In |2z +1-1|+c.

/;1:+\3/x72+\6/5dx.

z(1+ Jx)
Resenje: 2V/z2 + arctg ¢/ + c.

1—\/x—|—1d

S 5 aT]

Ve+1+1

Refenje: —8 (Vo +1) +8 (Vo +1)°+3 (Va+1) —2(Va+1)° =3 (Va+1)°+6 (Vo + 1) +3In |z + 1+ 1|—

Garctgyx + 1+ ¢
3 +5
VaZ+4

Resenje: (2% —8) Va2 + 4 + ZarctgZ + c.

3 —1
| = d=;
VaZ+1
Resenje: (102 —2)vaZ+1—In|z + Va2 + 1| +c.

dx;



14.

15.

16.

17.

18.

2
[— 4
V1—x— 322
Resenje: (%xzf%) \/17173x2+£arcsin6\”}%1 +c.
I 2?41 p
— dx
vVrz+z+1
Resenje: (322 —3)Va?+o+1+Ilnjz+3+Va2+a+1]|+ec
2
dex
422 — 122 + 3
Resenje: %\/4x2—12x+3+£ln‘x—%+,/J;2—3J:—|—%‘+c.
2z +5
de;
V1—1z—3z2
Senje: —2 — 143 < 6zl
Resenje: svl—=z 32 + g arcsin = 4= + c.
1
de;
222 — 3z +1
Resenje: %\/2x273z+1+%ﬁ1n‘x7%+w/x273x+%’+c.




